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[1] Find the general solution to the following system of equations.

0 2 1 1 - 1
0 - 1 1 0 4

20 1 1

^9it)h^o

V

w

X

V

V

w

X =

n o o i
0 I P
0
0-3 5

l d c ) l j
U

/
V " " 0 "

" 1
0 0 "

w 0 0 1 0

X + 0 1 4
r

R - 2 0 - 3 5
s

I
z _ 0 . 0 0 1

' I p 1 ^ X I " * \

( i ) I S 5 ^ ^ $ b -
2 oyi 5 vfiamlo'es leavjesa, 3^5-Z-3
sgiohovv So aif\swe«f rou^-^le c^tned^")

3 W
3 ^l/yl^vo^AS

> 1
4 i

-V

\ k
^ M ^

\ u 4 » Ax

\ ^ 4 - V ^

b J —

\ u

r

L t J

ijQOr ̂ ^M$u3e)»r h\vre slnqpe^ 1V)̂  ifvî re^JlOh
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[2] Using matrix multiplication, count the number of paths of length eight from x to z.
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[3] Find the intersection of the following two affine subspaces of

X 1 1 0

y = 1 + 0 1

_ z _ 0 1 0

CO
■Z,

X 1 1 1

y 1 + 1 0

z 1 0 1

" X ' ' M I
y = a •V o \ - t
z \ . \ J

" X '
" 2 " " l "

y = z 2 + 0
z 1 1

C i o - 0 1
\

\

\ \ '
\ 0

LO 1]
- t o

Co]

r 1
I

L \
4-

n M
\ Q

LO ]

(̂ cViedfC'
1L . ' J

0
J

= CO

S - 1

n
1

o

I 0 \
0 I

u \ 0
\

kjgiO'Oc)̂  Cc> belong ̂



F 1 7 8 : 4 0 E x a m 1 P r o b l e m 4

Linear Algebra, Dave Bayer

T e s t l

llllllll
t e s t l a l p 4

[4] Find the 2x2 matrix A that reflects across the line 2y = 3x.
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[5] Find a basis for the subspace of spanned by the following vectors:

(1,1,0,0,2), (1,0,1,0,2), (1,0,0,1,2), (0,1,1,0,2), (0,1,0,1,2), (0,0,1,1,2)
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